Original article

Using Melon and Watermelon Peels for the Removal of Some Heavy Metals from Aqueous Solutions

Abdelrazeg Abdelrazeg¹, Aliaa Khalifa², Hana Mohammed¹, Hanan Miftah¹, Hamad Hasan^{*1}

¹Department of Chemistry, Faculty of Science, Omar Al-Mukthar University, Albayda, Libya. ²Department of Chemistry, Faculty of Arts and Science (Elmarj), Benghazi University, Benghazi, Libya. **Corresponding email.** <u>hamad.dr@omu.edu.ly</u>

Abstract

In this study, the activated carbon of melon and watermelon peels was used as a solid adsorbent for the removal of ferric and copper ions from aqueous solutions through the batch equilibrium technique. The influence of contact time and initial concentration of metal ions on the adsorbed amount of metal ions was investigated. The highest adsorption capacity was found to be 3.32 and 74 mg of metal ions per gram of adsorbent at an initial concentration of 3.35 mg/L and 100 mg/L of ferric and copper ions, respectively. The melon peels were used and found to be 3.26 mg of metal ions per gram of adsorbent at an initial concentration of 3.35 mg/L, when watermelon was used, and this would be higher with a higher initial concentration. Ferric ion was removed by 86.83 - 99.55%, and copper ion by 18-88% along the whole range of initial concentrations when melon was used, and 77.55%-98.86% for ferric when watermelon was used. Isotherm studies showed that the data best fit the Langmuir isotherm model.

Key words. Removal, Heavy Metals, Melon, Watermelon, Peels.

Introduction

Heavy metal pollution in aquatic systems has become a serious threat and has a great potential to cause environmentally derived cancer because these metals are non-biodegradable and therefore persistent. Metals are mobilized and carried into the food web as a result of leaching from waste dumps, polluted soils, and water. The contamination of water with substances that hurt human beings, animals, and plants is called water pollution. Water pollution is a worldwide problem; its control has become increasingly important in recent years [1]. Conventional methods for removing metals from aqueous solutions include chemical precipitation, chemical oxidation and reduction, ion exchange filtration, electrochemical treatment, reverse osmosis, membrane technologies, and evaporation. The major disadvantage of conventional treatment technologies is the production of toxic chemical sludge, whose disposal/treatment becomes a costly affair and is not eco-friendly. Therefore, removal of toxic heavy metals to an environmentally safe level in a costeffective and environmentally friendly manner is of great importance [2,3].

In recent years, considerable attention has been devoted to the study of the removal of heavy metal ions from solution by adsorption using agricultural materials. Natural materials that are available in large quantities or certain wastes from agricultural operations may have the potential to be used as low-cost adsorbents, and they represent unused resources, which are widely available and are environmentally friendly. Some investigations on the removal of heavy metal ions with agricultural by-products have been previously reported [4]. Biosorption is defined as the ability of biological materials to accommodate heavy metals from wastewaters through the metabolically mediated physico-chemical pathways of uptake. Algae, fungi, bacteria, parts of some higher plants, and yeasts have proven to be potential metal biosorbents. When the heavy metal concentration exceeds the tolerance level, it will show harmful effects on human physiological and other biological systems [5].

Many different approaches have been studied and developed for the effective removal of heavy metals using biosorbents such as peat [6], fly ash [7,8], microbial biomass and other agricultural by-productssuch as sugarcane bagasse [9], soya bean hulls [10], walnut hulls [11], cotton seed hulls and corn cobs [12]. It has also been observed that these biosorbents require further modifications to increase the number of active binding sites and make them readily available for sorption. Huang and Huang have stated that pre-treatment of the biomass removes the surface impurities on the biosorbents and exposes the available binding sites for metal sorption [13,14]. Copper is considered one of the most toxic metals and poses a potential threat to human health and the environment, even at low concentrations. It has been well reported that the accumulation of copper in the human body causes brain, skin, pancreas, and heart diseases [15]. The permissible limit of copper is 2.5 mg/L in water. Wastewater from various industries, such as electroplating, plastic, metal finishing, pigments, and mining, contains copper. To alleviate the problem of water pollution by copper, various methods have been used to remove copper from wastewater, such as chemical precipitation, coagulation, flotation, adsorption, ion exchange, reverse osmosis, and electrodialysis.

The production of the sludge in the precipitation method poses challenges in handling, treating, and landfilling of the solid sludge. Ion exchange usually requires a high-capital investment for the equipment as well as high operational costs. Electrolysis allows the removal of metal ions with the advantage that there is no need for additional chemicals, and also there is no sludge generation. However, it is inefficient at a low metal concentration. Membrane processes such as reverse osmosis and electrodialysis tend to suffer from the instability of the membranes in salty or acidic conditions and fouling by inorganic and organic substances present in wastewater [16].

Adsorption is highly effective, economical, and promising, and is widely applied for scavenging the metalbearing wastewaters. Different conventional and non-conventional adsorbents have been used for the removal of heavy metals [17]. Hen eggshell is one of the major byproducts of the food industry. The byproduct eggshell weighs approximately 10% of the total mass (60 g) of the hen egg, representing a significant waste from the egg-derived products processor because it was traditionally useless and commonly disposed of in landfills without any pretreatment [18,19].

Fruit peel waste (FPW) has the highest potential as an active adsorbent for wastewater treatment. One of the conventional treatments of FPW is through biochar production. There are a few routes to produce biochar, such as pyrolysis, slow pyrolysis, fast pyrolysis, gasification, and hydrothermal carbonization. Biochar produced at high temperatures (800°C) is efficient for the removal of copper (Cu) and lead (Pb) from wastewater. Pyrolysis is the most common method to produce biochar. It is a process where organic compounds (solid or liquid) undergo thermal decomposition in the absence of oxygen or with little oxygen. The thermal treatment breaks down the larger organic molecules into smaller ones. The production of biochar is influenced by various parameters such as temperature, heating rate, steam charge, and time [20,21]. This research aimed to investigate the use of melon and watermelon in the removal of metal ions from aqueous solutions. melon and watermelon a low-cost adsorbent, which a waste material. The study involved the examination of experimental conditions such as time and adsorbent loading on the removal of Cu (II), Fe (III), and from aqueous solutions. The Langmuir adsorption isotherms were used to investigate the adsorption process. A kinetic study was also carried out to evaluate the order of adsorption. The present study was undertaken to evaluate the efficiency of melon and watermelon fruit powder for the removal of ferric and copper ions in aqueous solution, in addition to estimating the optimum removal conditions and the suitable adsorption isotherms with their related constants.

Materials and Methods

Dried melon and watermelon were milled and ground until they passed through an 80-mesh sieve. The powdered melon and watermelon fruits were washed repeatedly with distilled water to remove dust and soluble impurities. All chemicals used are of high purity, commercially available Analar grades. A stock solution of 1000 mg/L of ferrous sulfate (FeSO₄.7H₂O), and copper sulfate (CuSO₄.5H₂O) was prepared using deionized water. From that, 3.35 mg/L of ferrous ion solutions and 100 mg/L of copper ion solutions were prepared in buffer solution. The adsorption was carried out in a batch process at (32 ± 1 °C) in the presence of 100 mg of adsorbent (peel fruit powder) under constant shaking with an orbital shaker. The effect of contact time and initial concentration of metal ions was also examined by choosing different time intervals of shaking the melon and watermelon fruit powder with metal ion solutions. The sealed conical flasks were shaken at constant temperature for 15, 30, 45, 60, 90, and 120 minutes for ferrous and copper ions, respectively, where equilibrium was attained. The resultant metal ion solution concentration was determined by the spectrophotometer. The amount of metal adsorbed at equilibrium, qe mg/g, was determined using the following equation:

$$(q_{\rm e}) = \frac{(ci-c_{\rm e})}{m} \times v \qquad (1)$$

Where: V = Volume of equilibrated solution. M = mass of adsorbent. Ci = initial concentration of metal ion. Ce = equilibrium concentration of metal ion. Percent removal (R%) was also evaluated from the following equation

Removal $%=(c_i - c_e) / (c_i) \times 100....(2)$

The adsorption process was carried out according to the methods described by different studies [22 -29].

Results and Discussion

The results of the effect of adsorbent doses, time, and their removal values of Ferric were shown in Table 1.

Table 1. Effect of	of adsorbent (Melon) doses on the concentration o	of Fe ⁺³ ions in different time
--------------------	---------------------	--------------------------------	--------------------------------------------

				,	0.000							-	
Wt of adsorbent	C_{i}	TIME 15 min Ce	qe	R%	TIME 30 min Ce	Qe	R%	TIME 1:30 Ce	qe	R%	TIME 2:00 Ce	qe	R%
100	3.35	0.3856	2.96	88.84	0.114	3.23	96.59	0.0368	3.28	98.90	0.028	3.32	99.16
200	3.35	0.244	1.55	92.71	0.187	1.58	94.41	0.0385	1.65	98.85	0.015	1.66	99.55
300	3.35	0.149	1.06	95.55	0.122	1.076	96.35	0.132	1.072	96.05	0.16	1.06	95.22
400	3.35	0.456	0.723	86.38	0.358	0.748	89.31	0.062	0.822	98.14	0.1	0.812	97.01
500	3.35	0.211	0.627	93.70	0.251	0.619	92.50	0.145	0.641	95.67	0.045	0.661	98.65

The essential characteristics of the Langmuir adsorption isotherm can be expressed in terms of a dimensionless constant, the separation factor or equilibrium parameter 'RL', which is defined by, $\mathbf{R} \mathbf{L}=(1) / 1 + (\text{SLOP * Ci}) \dots (3) [27,28].$ RL >1 Unfavorable, RL=1 Linear, 0< RL <1 Favorable, RL=0 Irreversible. The results of Langmuir isotherms of Ferric ions by using melon peels as adsorbent are given in Table 2 and Figure 1.

, y	(melon)									
Time Ce qe Ce/qe										
15	0.3856	2.96	0.130							
30	0.114	3.23	0.044							
90	0.0368	3.28	0.0112							
120	0.028	3.32	0.0084							

Table 2. The values of Langmuir adsorption isotherms for Fe^{+3} ions by using 100mg of adsorbent (melon)



Figure 1. Langmuir adsorption isotherms for Fe^{+3} by using 100mg of adsorbent (melon).

Table 3. The values of Langmuir adsorption isotherms for Fe^{+3} ions using 200mg of adsorbent(melon)

Time	Ce	qe	Ce /qe
15	0.224	1.55	0.144
30	0.187	1.58	0.118
90	0.0385	1.65	0.023
120	0.015	1.66	0.0090



Figure 2. Langmuir adsorption on isotherms for Fe⁺³ by using 200mg of adsorbent (melon)

Table 4.	The values of Langmuir	adsorption	isotherms	for Fe+3	ions by	using	300mg of	adsorbent
			(melon)					

Time	Ce	qe	Ce /qe
15	0.149	1.06	0.140
30	0.122	1.076	0.113
90	0.132	1.072	0.123
120	0.16	1.06	0.150

https://doi.org/10.54361/ajmas.258234



Figure 3. Langmuir adsorption on isotherms for Fe⁺³ by using 300mg of adsorbent (melon)

Table 5. The values of Langmuir adsorption isotherms for Fe^{+3} ions by using 400mg of adsorbent (melon)

Time	Ce	qe	Ce /qe
15	0.456	0.723	0.630
30	0.358	0.748	0.478
90	0.062	0.822	0.0075
120	0.1	0.812	0.123



Figure 4. Langmuir adsorption on isotherms for Fe⁺³ by using 400 mg of adsorbent(melon)

Table 6. The values of Langmuir adsorption isotherms for Fe^{+3} ions by using 500mg of adsorbent (melon)

(metoly									
Time	Ce	qe	Ce /qe						
15	0.211	0.627	0.336						
30	0.251	0.619	0.405						
90	0.145	0.641	0.226						
120	0.045	0.661	0.068						

Table 7. Ej	ffect of	adsorbent doses	(Melon)	on the	concentration of	f Cu+2	² ions in different ti	ime
-------------	----------	-----------------	---------	--------	------------------	--------	------------------------	-----

Wt of adsorbent	C_i	Time 15 min Ce	qe	R%	Time 45min Ce	qe	R%	2:00 Time Ce	qe	R%
100	100	47	53	53	34	66	66	26	74	74
200	100	72	28	28	50	25	50	12	44	88
300	100	77	7.66	23	53	15.66	47	33	22.33	67
400	100	64	9	36	69	7.75	31	19	20.25	81
500	100	82	3.6	18	51	9.8	49	47	10.6	53

Table 8. The values of Langmuir adsorption isotherms for Cu $^{+2}$ ions by using 100 mg of adsorbent (melon)

Time	Time C _e		Ce /qe		
15	47	53	0.886		
45	34	66	0.515		
120	26	74	0.351		



Figure 5. Langmuir adsorption on isotherms for Cu +2 by using 100 mg of adsorbent (melon)

 Table 9. The values of Langmuir adsorption isotherms for Cu +2 ions by using 200 mg of adsorbent (melon)

Time	Ce	qe	Ce /qe
15	72	28	2.57
45	50	25	2
120	12	44	0.27



Figure 6. Langmuir adsorption on isotherms forCu⁺²by using200 mg of adsorbent(melon)

 Table 10. The values of Langmuir adsorption isotherms for Cu +2 ions by using 300 mg of adsorbent (melon)

Time	Ce	qe	Ce /qe
15	77	7.66	10.05
45	53	15.66	3.38
120	33	22.33	1.47



Figure 7. Langmuir adsorption on isotherms for Cu^{+2} by using 300 mg of adsorbent(melon)

Table 11. The values of Langmuir adsorption isotherms for Cu +2 ions by using 400 mg ofadsorbent (melon)

ausorbent (metory						
Time	Ce	qe	Ce /qe			
15	64	9	7.11			
45	69	7.75	8.90			
120	19	20.25	0.93			



Figure 8. Langmuir adsorption on isotherms for Cu⁺² by using 400 mg of adsorbent(melon)

Table 12. The values of Langmuir adsorption isotherms for Cu+2 ions by using 500 mg ofadsorbent (melon)

		· · · · ·	
Time	Ce	qe	Ce /qe
15	82	3.6	22.77
45	51	9.8	5.20
120	47	10.6	4.43



Figure 9. Langmuir adsorption on isotherms for Cu⁺² by using 500 mg of adsorbent(melon)

Table 13. Effect of adsorbent (watermelon) doses on the concentration of Fe ⁺³ ions in different time

Wt	Ci	Time 15 Ce	qe	R%	Time 30 Ce	qe	R%	Time 45 Ce	qe	R%	Time 60 Ce	qe	R%	Time 01:30 Ce	qe	R%
0.1	3.35	0.459	2.89	86.29	0.13	3.22	96.11	0.078	3.27	97.67	0.085	3.26	97.46	0.083	3.26	97.52
0.2	3.35	0.414	1.468	87.64	0.32	1.55	90.44	0.217	1.56	93.52	0.179	1.58	94.65	0.038	1.65	98.86
0.3	3.35	0.6	0.916	82.08	0.112	1.07	96.65	0.352	0.999	89.49	0.09	1.086	97.31	0.159	1.06	91.17
0.4	3.35	0.725	0.656	77.55	0.348	0.75	89.61	0.36	0.747	89.25	0.187	0.790	94.41	0.135	0.803	95.97
0.5	3.35	0.467	0.576	86.06	0.29	0.61	91.34	0.273	0.615	91.85	0.125	0.645	96.26	0.097	0.650	97.10

Table 14. The values of Langmuir adsorption isotherms for Fe +3 ions by using 100 mg ofadsorbent (watermelon)

	•		
Time	Ce	qe	Ce /qe
15	0.459	2.89	0.158
30	0.13	3.22	0.040
45	0.078	3.27	0.023
60	0.085	3.26	0.026
90	0.083	3.26	0.025



Figure 10. Langmuir adsorption on isotherms for Fe ⁺³ by using 100 mg of adsorbent(watermelon)

 Table 15. The values of Langmuir adsorption isotherms for Fe +3 ions by using 200 mg of adsorbent (watermelon)

· · · · · · · · · · · · · · · · · · ·						
Time	Ce	qe	Ce /qe			
15	0.414	1.46	0.28			
30	0.32	1.55	0.20			
45	0.217	1.56	0.13			
60	0.179	1.58	0.11			
90	0.038	1.65	0.023			



Figure 11. Langmuir adsorption on isotherms for Fe⁺³ by using 200 mg of adsorbent(watermelon)

Table 16. The values of Langmuir adsorption isotherms for Fe +3 ions by using 300 mg ofadsorbent (watermelon)

Time	Ce	qe	Ce /qe
15	0.6	0.916	0.65
30	0.112	1.07	0.10
45	0.352	0.99	0.35
60	0.09	1.086	0.08
90	0.159	1.06	0.15



Figure 12. Langmuir adsorption isotherms for Fe⁺³ by using 300 mg of adsorbent (watermelon)

Time	Ce	qe	Ce /qe				
15	0.725	0.656	1.10				
30	0.348	0.75	0.46				
45	0.36	0.747	0.48				
60	0.187	0.790	0.23				
90	0.135	0.803	0.16				

Table 17. The values of Langmuir adsorption isotherms for Fe⁺³ ions by using 400 mg of adsorbent(watermelon)



Figure 13. Langmuir adsorption on isotherms for Fe ⁺³ by using 400 mg of adsorbent(watermelon)

Table 18.	The values of Langmuir adsorpti	on isotherms for	• Fe +3 ic	ons by using	500 mg of
	adsorbent	(watermelon)			

Time	Ce	qe	Ce /qe
15	0.467	0.576	0.81
30	0.29	0.61	0.47
45	0.273	0.615	0.44
60	0.125	0.645	0.19
90	0.097	0.650	0.147



Figure 14. Langmuir adsorption isotherms for Fe +3 by using 500 mg of adsorbent

Discussion

The carboxylate group at the active site can adsorb Fe^{+3} , Cu^{+2} ions very well. Therefore, the melon water melon fruit powder adsorbents had more metal-binding active sites and more negative surfaces, which enhanced the retention of Fe^{+3} , Cu^{+2} onto the surface and the percentage of Fe^{+3} , Cu^+ removal. However, the adsorption mechanism of metal ions depends on various factors, such as the pH of the solution and binding characteristics. Usually, metal ion adsorption is accomplished through ion exchange, complex formation, electrostatic interaction, and precipitation [29]. The effects of contact time on the amount of metal ions on the adsorbent surface are Equilibrium have established at 15,30, 45, 60,90, and 120 min for ferric ions and copper ions. Once again, there is a big change in the amount of metal ions adsorbed with time, which indicates an ion exchange mechanism. Our findings are in harmony with those studies, which stated that the removal of pollutants from aqueous solutions depended on the values of Langmuir and Freundlich isotherms. The adsorption mechanism is attributed to the porosity size of the activated carbon, as well as the type of activation, mainly affecting the removal of compounds by activated carbon, including temperature of activation, PH values of activated carbons, presence of surface minerals, and others. The advantage of this study is that it used low-cost material (residual sea grasses) and did not add other materials during the activation.

Conclusion

From the experimental data of adsorption of ferric and copper ions on melon water melon fruit powder surface, the following points can be concluded. Melon and watermelon powder, an agricultural waste, could be used as a potential adsorbent for the removal of ferric and copper ions from polluted solutions. The adsorption process for both metals is the same because the adsorption of Fe(III) and Cu(II) ions is well described by the Langmuir isotherm. The adsorption of metal ions on melon and watermelon powder was dependent on the time. The percent removal of ferric and copper ions by the new adsorbent is fairly high. The amount of metal ions adsorbed increased with an increase dose of adsorbent factor.

Acknowledgement

Special thanks to the central lab of the chemistry department, Faculty of Science, Omar Almukhtar University for their collaboration during the experimental part of this study.

References

- 1. Robinson T, Chandran B, Nigam P, Al-Qahtani A. Studies on the decolourisation of an artificial textile-effluent by white-rot fungi in N-rich and N-limited media. Appl Microbiol Biotechnol. 2000;57(1):810-4.
- 2. Ahluwalia S, Goyal D. Microbial and plant derived biomass for removal of heavy metals from wastewater. Bioresour Technol. 2007;98(2):243-57.
- 3. Hanif MA, Nadeem R, Zafar MN, Akhtar K, Bhatti HN. Kinetic studies for Ni2+ biosorption from industrial wastewater by Cassia fistula (Golden shower) biomass. J Hazard Mater. 2007;139(1):345-55.
- 4. Mohan D, Singh KP. Single- and multi-component adsorption of cadmium and zinc using activated carbon derived from bagasse an agricultural waste. Water Res. 2002;36(1):2304-18.
- 5. Horsfall M Jr, Spiff AI. Effect of metal ion concentration on the biosorption of Pb2+ and Cd2+ by Caladium bicolor (wild cocoyam). Afr J Biotechnol. 2004;4(1):191-6.
- 6. Brown P, Jefcoat IA, Parrish D, Gill S, Graham E. Evaluation of the adsorptive capacity of peanut hull pellets for heavy metals in solution. Adv Environ Res. 2000;4(1):19-29.
- 7. Ricou-Hoeffer P, Lecuyer I, Le Cloirec P. Experimental design methodology applied to adsorption of metallic ions onto fly ash. Water Res. 2001;35(1):965-76.
- 8. Ho YS, Ng JCY, McKay G. Kinetics of pollutant sorption by biosorbents: review. Sep Purif Rev. 2000;29(1):189-232.
- 9. Texier AC, Andres Y, Le Cloirec P. Selective biosorption of lanthanide (La, Eu, Yb) ions by Pseudomonas aeruginosa. Environ Sci Technol. 1999;33(1):489-95.
- 10. Marshall WE, Wartelle LH, Boler DE, Toles CA. Metal ion adsorption by soybean hulls modified with citric acid: a comparative study. Environ Technol. 2000;21:601-7.
- 11. Wartelle LH, Marshall WE. Citric acid modified agricultural by-products as copper ion adsorbents. Adv Environ Res. 2000;4(1):1-7.
- 12. Reddad Z, Gerente C, Andres Y, Le Cloirec P. Adsorption of several metal ions onto a low-cost biosorbent: kinetic and equilibrium studies. Environ Sci Technol. 2002;36(9):2067-73.
- 13. Huang C, Huang CP. Application of Aspergillus oryzae and Rhizopus oryzae for Cu(II) removal. Water Res. 1996;30(8):1985-90.
- 14. Huang PM, Wang MC, Wang MK. Mineral-organic-microbial interactions. In: Hillel D, Rosenzweig C, Powlson DS, Scow KM, Singer MJ, Sparks DL, Hatfield J, editors. Encyclopedia of Soils in the Environment. Amsterdam: Elsevier; 2004. p. 486-99.
- 15. Veli S, Alyüz B. Adsorption of copper and zinc from aqueous solutions by using natural clay. J Hazard Mater. 2007;149(1):226-33.
- 16. Dang VBH, Doan HD, Dang VT, Lohi A. Equilibrium and kinetics of biosorption of cadmium(II) and copper(II) ions by wheat straw. Bioresour Technol. 2009;100(1):211-9.
- 17. Gupta VK, Rastogi A. Biosorption of hexavalent chromium by raw and acid-treated green alga Oedogonium hatei from aqueous solutions. J Hazard Mater. 2009;163(1):396-402.
- 18. Stadelman WJ. Eggs and egg products. In: Francis FJ, editor. Encyclopedia of Food Science and Technology. 2nd ed. New York: John Wiley and Sons; 2000.
- 19. Tsai WT, Hsien KJ, Hsu HC, Lin CM, Lin KY, Chiu CH. Utilization of ground eggshell waste as an adsorbent for the removal of dyes from aqueous solution. Bioresour Technol. 2008;99(6):1623-9.
- 20. Mohan D, Pittman CU, Steele PH. Pyrolysis of wood/biomass for bio-oil: a critical review. Energy Fuels. 2006;20(3):848-89.
- Czernik S, Bridgewater AV. Overview of applications of biomass fast pyrolysis oil. Energy Fuels. 2004;18(2):590-8.
- 22. Masoud MS, El-Saraf WM, Abdel-Halim AM, Ali AE, Mohamed EA, Hasan HMI. Rice husk and activated carbon for waste water treatment of El-Mex Bay, Alexandria Coast, Egypt. Arab J Chem. 2016;9:S1590-6.
- 23. Mohamed AE, Afnan SA, Hamad MA, Mohammed AA, Masoud MS, Ali RE, Mohammed G. Usage of natural wastes from animal and plant origins as adsorbents for the removal of some toxic industrial dyes and heavy metals in aqueous media. J Water Process Eng. 2023;55:104056.
- 24. Hanan MMA, Hamad H. Removing of Thymol Blue from aqueous solutions by Pomegranate peel. EPH Int J Appl Sci. 2019;1(1):111-9.

Alqalam Journal of Medical and Applied Sciences. 2025;8(2):787-796

- 25. Enas AA, Hamad MA, Safwan FK. Kinetic study of the adsorption of the removal of bromocresol purple from aqueous solutions. Int J Res Grathaalayah. 2019;7(12).
- 26. Hasan HMI. Studies on physicochemical parameters and water treatment for some localities along coast of Alexandria [PhD thesis]. Alexandria University; 2006.
- 27. Najim TS, Elais NJ, Dawood AA. Adsorption of copper and iron using low cost material as adsorbent. E-J Chem. 2009;6(S1):2063-90.
- 28. El Nemr A, El-Sikaily A, Abdelwahab O, Khaled A. Use of rice husk for adsorption of direct dyes from aqueous solution. Bull Natl Inst Oceanogr Fish A.R.E. 2005;31:1-12.
- 29. Villen-Guzman M, Gutierrez-Pinilla D, Gomez-Lahoz C, Vereda-Alonso C, Rodriguez-Maroto JM, Arhoun E. Optimization of Ni(II) biosorption from aqueous solution on modified lemon peel. Environ Res. 2019;179:108849.

الملخص

في هذه الدراسة، استُخدم الكربون المنشَّط من قشور البطيخ والشمام كمادة ماصة صلبة لإزالة أيونات الحديديك والنحاس من المحاليل المائية باستخدام تقنية توازن الدفعات. ودُرِسَ تأثير زمن التلامس والتركيز الابتدائي للأيونات المعدنية على الكمية الممتصة منها. وُجِد أن أعلى سعة امتزاز بلغت 3.32 و74 ملغ من أيونات المعادن لكل غرام من المادة الماصة عند تركيز ابتدائي قدره 3.35 ملغ/لتر و100 ملغ/لتر من أيونات الحديديك والنحاس، على التوالي. أما قشور البطيخ، فقد وُجِد أنها تحتوي على 3.26 ملغ من أيونات المعادن لكل غرام من المادة الماصة عند تركيز ابتدائي قدره 3.35 ملغ/لتر، عند استخدام البطيخ، فقد وُجِد أنها تحتوي على 3.26 ملغ من أيونات المعادن لكل غرام من المادة الماصة عند تركيز ابتدائي قدره 3.35 ملغ/لتر، عند استخدام البطيخ، وتكون هذه القيمة أعلى مع التركيز الابتدائي الأعلى. ابنسبة تراوحت بين 86.83% و37.55% و38.86% للحديديك عند استخدام البطيخ. أطهرت بين 18% و88% على امتداد نطاق التركيزات الأولية عند استخدام البطيخ، ونسبة تراوحت بين 77.55% و38.86% للحديديك عند استخدام البطيخ. من البطيخ. أظهرت دراسات تساوي درجة الحرارة أن البيانات تُطابق موذج تساوي درجة الحرارة لانغموير على النحو الأمثل.